TO BE PUBLISHED IN THE GAZETTE OF PAKISTAN EXTRA ORDINARY, PART-II

National Electric Power Regulatory Authority

NOTIFICATION



Islamabad, the

day of November 2022

2020

(I)/2022.- Pursuant to Section 31(7) of the Regulation of Generation, Transmission and Distribution of Electric Power Act, 1997 and Pursuant to the Authority's decision dated October 19, 2016 vide notified S.R.O No. 702(1)/2017 dated July 21, 2017 in matter of Motion for Leave for Review against Authority's Determination for FY 2014-15 to 2016-17 of the generation tariff & decision of the Authority dated April 12, 2018 in the matter of Immediate Application of RLNG as alternative fuel for Northern Power Generation Company Ltd. (NPGCL), NEPRA hereby notifies the following adjustments in the approved tariff of NPGCL:

Annex: NEPRA-LXXXIII

NORTHERN POWER GENERATION COMPANY LIMITED

Schedule of Fuel Cost Part of Energy Charge

Adjustment on account of Fuel Price Variation for Furnace Oil

Period	Description	Reference Price Rs./M.Ton	Previous Price Rs./M.Ton	Revised Price Rs./M.Ton	Reference FCC Rs./kWh	Previous FCC Rs./kWh	Revised FCC Rs./kWh	
	Block I Unit 1	39,000.00			10.6378	45.5260	46.5400	
July 2022	Block I Unit 2				10.7819 46.1427	47.1704		
	Block I Unit 3		166,006,07	170 600 46*	10.4091	091 44.5472	45.5394	
	Block II Unit 4		39,000.00	166,906.07	170,623.46*	10.3936	44.4809	45.4716
	Block III Unit 5				11.0671	47.3632	48.4181	
	Block III Unit 6				11.3698	48.6587	49.7424	

*Revised price is calculated in accordance with the details of consumption provided as under:

Fr1 C	Quantity	Fuel Rate	Total Amount
Fuel Source	(M. Ton)	(Rs./M. Ton)	(Rs.)
PSO Ex-Zot (Imported) 14 June 2022	1,179.991	166,731.31	196,741,445
PSO Ex-Parco (Local) 14 June 2022	148.052	165,563.55	24,512,015
PSO Ex-Parco (Local) 15 June 2022	813.212	165,563.55	134,638,266
PSO Ex-Zot (Imported) 15 June 2022	912.095	166,731.31	152,074,794
PSO Ex-Lalpir (Imported) 15 June 2022	342.010	167,571.22	57,311,033
PSO Ex-Lalpir (Imported) 16 June 2022	1,673.288	167,571.22	280,394,912
PSO Ex-Zot (Imported) 16 June 2022	190.436	166,731.31	31,751,644
PSO Ex-Parco (Local) 16 June 2022	147.784	165,563.55	24,467,644
PSO Ex-Lalpir (Imported) 17 June 2022	76.030	167,571.22	12,740,440
PSO Ex-Zot (Imported) 17 June 2022	1,130.298	166,731.31	188,456,066
PSO Ex-Zot (Imported) 18 June 2022	1,126.577	166,731.31	187,835,659
PSO Ex-Lalpir (Imported) 18 June 2022	38.000	167,571.22	6,367,706
PSO Ex-Zot (Imported) 20 June 2022	788.140	166,731.31	131,407,615
Natural Gas Power Station Multan July 1, 2022	77.635	77,344.84	6,004,667
Natural Gas Power Station Multan July 6, 2022	30.845	77,344.84	2,385,702
PSO Ex-Lalpir (Imported) 2 July 2022	680.828	175,691.60	119,615,761
PSO Ex-Parco (Local) 3 July 2022	258.306	165,691.10	42,799,005
PSO Ex-Lalpir (Imported) 3 July 2022	1,236.540	175,691.60	217,249,691
PSO Ex-Lalpir (Imported) 4 July 2022	486.646	175,691.60	85,499,614
PSO Ex-Lalpir (Imported) 5 July 2022	987.357	175,691.60	173,470,331
PSO Ex-Lalpir (Imported) 6 July 2022	988.086	179,475.60	177,337,328
PSO Ex-Lalpir (Imported) 7-8 July 2022	2,067.844	179,475.60	371,127,543
Total Fuel Consumed	15,380.000	-	2,624,188,879
Weighted Average Revised Price (Rs./M.	170,623.46		

Weighted Average Revised Price (Rs./M.Ton)



National Electric Power Regulatory Authority Islamic Republic of Pakistan

NEPRA Tower, G-5/1, Attaturk Avenue, Islamabad Phone: 9206500, Fax: 2600026 Website: www.nepra.org.pk, Email: info@nepra.org.pk

No. NEPRA/ADG(Tariff)/TRF-Notifications/ 2/187

November 2, 2022

The Manager Printing Corporation of Pakistan Press (PCPP) Khayaban-e-Suharwardi, Islamabad

Subject:

Publication of Notification of Fuel Price Adjustments

Pursuant to amendment in Regulation of Generation, Transmission and Distribution of Electric Power Act, 1997 (NEPRA Act) through Regulation of Generation, Transmission and Distribution of Electric Power (Amendment) Act 2011 (Act No. XVIII of 2011), the National Electric Power Regulatory Authority has been mandated to make the adjustments in the approved tariff on account of any variation in the fuel charges and notify the same in the official Gazette.

- 2. In exercise of power conferred by second proviso of sub-section 7 of Section 31 of NEPRA Act, the Authority has made adjustments in the approved tariff of various Generation Companies and the same will be notified in the official Gazette.
- 3. Enclosed please find herewith 21 notifications, regarding fuel price adjustments in approved tariff of various Generation Companies, as detailed below, for immediate publication in the official Gazette of Pakistan.

Sr#	Company Name	Decision by the Authority		
		(Description)		
1.	Attock Gen Ltd.	FCA for the month of August 2022		
2.	Atlas Power Ltd.	FCA for the month of August 2022		
3.	Nishat Chunian Power Ltd.	FCA for the month of August 2022		
4.	Nishat Power Ltd.	FCA for the month of August 2022		
5.	Saif Power Ltd.	FCA for RLNG [August 2022]		
6.	Halmore Power Generation Company Ltd.	FCA for RLNG [August 2022]		
7.	Liberty Power Tech Ltd.	FCA for the month of August 2022		
8.	Narowal Energy Limited	FCA for the month of August 2022		
	(Formerly HUBCO-Narowal)			
9.	Orient Power Company Limited	FCA for RLNG [August 2022]		
10.	Sapphire Electric Co. Ltd.	FCA for RLNG [August 2022]		
11.	Northern Power Gen. Co. Ltd Nandipur	FCA for RLNG [August 2022]		
ļ	Power Plant . [TRF-271]			
12.	Port Qasim Electric Power Company (Pvt.)	Adjustment on Account of Coal Price Variation for		
	Limited	the month of August 2022		
13.	Engro Powergen Thar (Pvt.) Ltd.	Adjustment on Account of Coal Price Variation for		
	[TRF-301]	the month of August 2022		
14.	Northern Power Gen. Co. Ltd. [TRF-304]	Adjustment on Account of Price Variation for Furnace		
		Oil for the period July & August 2022		
15.	Huangeng Shandong Ruyi Energy (Private)	Adjustment on Account of Coal Price Variation for		
	Company Limited	the month of August 2022		
16.	China Power Hub Generation Company	Adjustment on Account of Coal Price Variation for		
	Private Limited [TRF-342/CPHGCL]	the month of August 2022		

17.	Quaid-e-Azam Thermal Power (Pvt.) Limited	FCA for RLNG [August 2022]
18.	National Power Parks Management Company	FCA for RLNG [August 2022]
l	Private Limited (Haveli Bahadar Shah)	;
19.	National Power Parks Management Company	FCA for RLNG [August 2022]
L	Private Limited (Balloki)	
20.	Lucky Electric Power Company Limited	Adjustment on Account of Coal Price Variation for
-		the month of August 2022
21.	Punjab Thermal Power (Prvate) Limited	FCA for RLNG w.e.f. August 1, 2022

4. Please note that the notifications will be issued company-wise and also furnish thirty five (35) copies of the Notifications to this Office after publication.

Encl: 21 Notifications & C.D

02 X122

(Syed Safeer Hussain) Registrar

Annex: NEPRA-LXXXIV

NORTHERN POWER GENERATION COMPANY LIMITED Schedule of Fuel Cost Part of Energy Charge Adjustment on account of Fuel Price Variation for Furnace Oil

Period	Description	Reference Price Rs./M.Ton	Previous Price Rs./M.Ton	Revised Price Rs./M.Ton	Reference FCC Rs./kWh	Previous FCC Rs./kWh	Revised FCC Rs./kWh
	Block I Unit 1	39,000.00			10.6378	46.5400	49.0482
	Block I Unit 2				10.7819	47.1704	49.7126
A	Block I Unit 3		170 (22 46	179.819.09*	10.4091	45.5394	47.9937
August 2022	Block II Unit 4		170,623.46	1/9,819.09	10.3936	45.4716	47,9222
	Block III Unit 5				11.0671	11.0671 48.4181	51.0276
[Block III Unit 6				11.3698	49.7424	52.4233

*Revised price is calculated in accordance with the details of consumption provided as under:

Fuel Source	Quantity	Fuel Rate	Total Amount
ruei source	(M. Ton)	(Rs./M. Ton)	(Rs.)
PSO Ex-Lalpir (Imported) 8-14 July 2022	2,704.469	179,475.60	485,386,196
PSO Ex-Lalpir (Imported) 1 August 2022	2,455.679	180,371.24	442,933,866
PSO Ex-Zot (Imported) 1 August 2022	733.855	179,237.33	131,534,211
Total Fuel Consumed	5,894.003		1,059,854,274
Weighted Average Revised Price (Rs./I		179,819.09	

9

[Case No. NEPRA/TRF-304/NPGCL-2015]

(Syed Safeer Hussain)
Registrar